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TIME : 2 HRS 30 MINUTES
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| FULL MARKS : 150 |

Roll No.

RER4I9RT 1

R. Q9 H6RSIORIg A9F0IR A2 AP | 2.

9. geaidica 98q Anda (ag191) | 9@ 61ed aagiel
o gad @AQl A6 ARl 24 Qm, fayl @l
2agd galdie 94, 6069 gIdig Q190 62IRAS |

v i 3.
0. IND 69 U Y6 U B YRR UG LR LS |
qGIY G260 RSP Y6R AP AOATR F6P |
¥. Q09Ie I96a FRIees 2addfea fea gd @e9e 4

Qg |
8. 6. 9. Q. T6Q AR 98g AR §A fRade @] 5.
044 ARAGR AL Q6T AR | F1R F0F |
390 6QIR |AA AFIAe 6RI0N1EE D]RIEE ERHS |

INSTRUCTIONS

Read the instructions carefully.

The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false / in-correct / incomplete
or illegible detected at any stage, the
candidature shall be rejected.

Please bring the admit card and the
acknowledgement card for admission to the
examination and produce the same as and when
required.

Please put your full signature in the descriptive
roll-sheet in presence of the invigilator.
Darken the circles in the OMR Sheets
completely with Blue / Black ball point
pen only.

Write vour Roll No. correctlv in the snace

Techofworld.in

6AIRIAR 6TNIQ, MO 699R, RUEFQI BRUIT AN G2
629l GFa |

R0. @ gawIeq AFe 9@l QEyl 99° ggacHil an QUL
A1z 2R3 | 46 §8 @F a1 606e A1 FRe. §6a
2| QORER URY R 989 FNARE0IQ AIG fag | 918
{06 96a 69161Q IR god [T FID | 11.

e ¢.6q16d aQIEIgig a1l 688 6291 g9Q 9R1Al 92 819
doig 2gad Fudeal@ |

€ 9. 659 91 YASIRGI LR, © ¢ UFAER AN 260
eral ediqlg 629 |

eM. aeNAl FA Qe F6a, gIdIg FIee @ddaIde |

RY.QQININ 689 90 (Re Fea aaIsIdifien edlciag| 14.
QAIQAIREIRIE |

10.

12.

13.

rulers, cell phones, log tables, camera etc. not
to be taken to the examination hall.

Please check the No. of printed pages,
Questions Serial No. and in case of any
discrepancy, exchange the same within five
minutes and thereafter no complaint shall be
entertained.

No candidate shall be permitted to leave the
examination hall until the examination is over.

Discipline must be maintained in the examination
hall as per the Odisha conduct of Examination
Act 1988.

The candidature is liable for rejection in the
event of any infringement of the instructions
mentioned above.

The candidates are not allowed to go to toilet
during the last twenty minutes of the
examination.
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|SET — A]

g Sels @ dQl
CHILD DEVELOPMENT AND PEDAGOGY

g6QiR ggQ SI6QIT AR R GUIKIRE | 6Agee fQ O] 2aedg QI8 OMR T4Q
YR QAT IR / F1R AR 9L ARF QIR A°YL V6 AR KR |

Each question has four possible / probable answers. Choose the correct answer
from among them and darken the appropriate circle completely in the OMR Sheet
with Blue / Black ball point pen.

1. 29 ANQ 629 A°gI gIAFe 2@ dIR QIoY AR Yo @Rl ?

(A) Beaall (B) @. Q. 99° 9. 4. Q. 2. &

(C) 9. 4d. 6. @ (D) Q. 9@. §. a1Q

Which organisation of our State prepares the courses of studies for the primary

level ?
(A) OPEPA (B) TE & SCERT
(C) NCTE (D) ELTI

2. @699 AIQ 6996 J9a SIR1Ge ARRY IFIRE ?
(A) RIS (B) 98199
(C) g8Iae (D) ARQUAR

Which one of the followings indicates child’s physical growth ?
(A) Negative (B) Quantitative
(C) AQualitative (D) Positive

3. ‘QB 79q 9RQ @ d6e’ — 92l 624 994 °0f AUSA ARIGS ?

(A) 91212 2QQR (B) 2asQd (C) gaggsia (D) Q1608 93

< »
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|[DE1 — A

“Individual learns from his own mistakes” This statement is based on which learning theory ?

(A) Instrumental conditioning (B) Insight

(C) Trial & Error (D) Classical conditioning

4. 39 RIQ 6% Q246 OQ 6% ?

(A) QLT IR 665@ gRal (B) QR4 IR 91619 gRel
(C) 9% 9@ QAT IR (D) 496 99 UAKHQ JeLee gad
Which of the following statements is not true ?

(A) Growth is a biological process
(B) Developmentis a quantitative process

(C) Education is a goal-oriented process

(D) Learningis a process of behavioural changes

5. Q9008 g¢ 6996Q R67)Ie 60w 0245 O] 62 ?
(A) YRR IR (1) ALPEQ J§ ILe KRS
(B) Q02 GQf Q@Q AAQ AR
(C) @SN FIRIFIER FYM B @B ANYIAR 6RAIER
(D) Saf dee AUQ AIg 6915 O] 2aQ 26T
Which of the following statement is not true in case of multiple choice questions ?

A) Even aninexperienced teacher can prepare the questions easily

(

(B) All choices appear to be plausible

(C) Error-free and quick evaluation is possible by computer
(D) Only one of the choices is the correct answer

6. JAVANAER 3FR 6QIV-IRG! 696 YRIQ INYIAR QIR FQAE FALIRAN ?

(A) yegIe (B) Q9o (C) 0GR (D) €919@
What type of evaluation identifies learning deficiencies and difficulties of the learners ?

(A) Placement (B) Summative (C) Continuous (D) Diagnostic

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

IUI—I nl

7. 964 2190 990 90Q 7 9F 9° AIede Qa9 f) 7 9d 626/ 2186 56¢)I8 694 644616Q UGS
699 ?

(A) QA9IRy @& Qe (B) QARIQE 98 Afq (C) 699198 Qdq (D) QRIS 9F ase

Both the chronological age and the mental age of a pupil is 7 years. He may be classified
into which category ?

(A) Below normalintelligence (B) Normalintelligence
(C) Superiorintelligence (D) Genius

8. 99 08097 @E6RIIQ 696G UM BERIG 0IQ €a ?

(A) Q[ A6AINRRE! (B) 9o aee

(C) 2919 AR (D) <@ G dFUGQl MRS

Which is different from the other three with respect to fine motor Movement ?

(A) Dot Joining (B) Dictation

(C) Handwriting (D) Separation of fruits and vegetables

9. ‘gIg Qlafie 41" €AYER IR AL UFQ NFIQl 8 9 IR AP RUER Y Fl-
QIREIN — 92| 689 96 g AU ARIAS ?

(A) daggal@ (B) agee
(C) eua8ed (D) AFXRE

At the pre-primary stage reading aloud while writing is given importance. This is based on
which theory of learning ?

(A) Trial & Error (B) Conditioning
(C) Insight (D) Imitation

10. 99-99 @9 990 AT96Q F6¢)I8 ARIQ RIQIF TG AR ?

(A) 9Qe (B) 6382 Q6Q4 (C) g9 gaasae (D) 491919 A0
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Which one of the following is not taken into consideration while preparing the blue-print for

atest ?
(A) Topic (B) Instructional objectives
(C) From of questions (D) Teachingtime

11. Q6QIRIR 6908 _ |

(A) Y ARG SRR (B) QQQAA IRIQ

(C) 6009 A¢aid SRR (D) 2IeQd AHFNL FRIQ
Psycologyisa — — — _ __.

(A) science of soul (B) science of mind

(C) science of consciousness (D) science of behaviour

12. 6090 2E60QdIQ I@ AUIIQ 968 ?

(A) gl (B) egiaiee (C) geral (D) 2IAIRNE
Which is not a factor of motivation ?
(A) Prize (B) Incentive (C) Praise (D) Practice

13. 9 @ 9 od adye ULMIG @& FRIAIG ?

(A) N AIeal  (B) 6daiaql (C) g2 eedl (D) 9@ e@FedUE!
What is the stage from 2 to 6 years called ?

(A) Pre-childhood (B) Infancy

(C) Laterchildhood (D) Pre-adolescence

14. 3699 690 98T QIR M6 AR JQIIAINEa 69IF1G0 2IPad 2uae QGa’d ?

(A)  QIFISR (B) Qaaigdl

(C) & uae (D) Q94684
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The teacher studies pupils group behaviour mainly by which of the following

methods ?
(A) Interview (B) Experimentation
(C) Casehistory (D) Observation

15. 62@6 dgQ 2I6adg 991N QIR ?

(A) e (B) s

(C) eqlgem (D) <@gel
Which one does not indicate child’s emotion ?

(A) Pleasure (B) Sorrow
(C) Curiosity (D) Tolerance

16. 44 362 @ 6¢1R YRR 6ERERE BIFR ATERIT FAIF 69Q RIR F1G| FRIAIN ?

(A) Q@a (B) <9
(C) @§a (D) &9de

What type of game is it called when a child derives pleasure by watching others
playing instead of playing himself ?

(A) Participatory (B) Free
(C) Non-participatory (D) Controlled

17. 69Q6 6918Q SRIQ QAR P62 ?

(A) Qe a3 (B) <ep a8 (C) %2r 4% (D) @89 a8
Which one is not an element of intellectual development ?
(A) Creativity (B) Tolerance

(C) Thinking (D) Imagination
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18. ‘“O9Q F649dIAR 8 egISINR AITENG 9F RIAN" — 9RIQ gl @9 ?

(A) daaenig (B) @a daies

(C) <IRee (D) <RI

“Analytic and Synthetic abilities of mind is called intelligence” — who propounded this
theory ?

(A) Spearman (B) Jean Piaget

(C) Galton (D) Torman

19. 36912 629 6841Q da1e1 “‘Qoa 60191 6541 22YS GL8 ?
(A) 8 (B) 2agQa
(C) QrIRE (D) YOUSIRT

Which class of learners are not included under “Exceptional Category” ?
(A) Slow (B) Retarded
(C) Normal (D) Gifted

20. P6gI8 FRIQ 6996 TIC0YIINNS MNILANR IR AUECAITS! Q62 ?
(A) 99w VA0 BRI 98 QAQ

(B) 494 9ReIg 926 QA<

(C) &ga Q1049g g6 aige Q&8 a8<l

(D) dI049g ANRER YR RIR 6Q

Which one of the followings is not a merit of use of teaching aids ?
(A) Enhancing content knowledge of the teacher

(B) Making learning process easier

(C) Creating interest of the child for the topic

(D) Imparting concrete knowledge relating to the topic
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IUI—I nl

21. Q44 g RTFAE NALIQ QIR F67)IB 6896 ARG 62NN ?

(A) 9FaS 4160 29 (B) 6adiQl-g8Ql FrIER ACQE AIAR 99
(C) g988d a18e 29 (D) @@ Q8 6 94 98 4180 24
Which of the following is achieved by the use of Audio-Visual Aids ?

(A) Eyesightis sharpened

(B) Visual and Auditory coordination is established

(C) Hearingis sharpened

(D) Both hearing and eyesight are sharpened

22. 3699 690G I0d0l A84Q IR QUL Q6L ?

(A) 3R IOy JIRQ IR (B) Q@@ JQIQIR 98%

(C) dgeaaa asa Qudy (D) @@do IR

Which one of the following is not an element of mastery learning ?

(A) Use of alternate text-book (B) Alternate methods of teaching
(C) Child-centred learning activity (D) Group teaching

23. @64 810 9K FANCER 601G G&ie g¢ Ok AARIIR K8 694 2P dIanl 8 QA1 g¢
AR REQ! AIR 2L RIS IRl — 12| FFEQ 60Q FAC QUER ARIIAS ?

(A) I (B) 9g& (C) <y (D) oRTR

A student derived immense pleasure by solving a mathematical problem correctly while
doing homework and became interested to solve the next problem — This is based on
which law of learning ?

(A) Law of readiness (B) Law of exercise

(C) Law of similarity (D) Law of effect

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

S~ ——

24. 36019 6205 2R AITR JAUISR QIRI ARAID FUAIRAN ?
(A) QAnge IS (B) Qerdda dxld

(C) 2aRIQ RS (D) 62QITAIQ TIRQ I8

Which one of the following is measured by continuous comprehensive evaluation ?

(A) Holisitic development (B) Development of creativity

(C) Development of experience (D) Development of divergent thinking

25. 68 491218 QAIRA 63F@ ATFOIQ VIVILER 0I'Q IR 6IYER VI 8 ATV AIRRR
P01 HC68 699 JQIFE ARSI ?

(A) 2R6QNYG AAE (B) Q91 aQIE
(C) e JQIIE (D) F6QIPE TQINS

Which test is conducted to estimate the future efficiency and achievement of a student
based on his present educational achievements ?

(A) Aptitude test (B) Achievement test
(C) Unittest (D) Attitude test

26. 3649 AIQ 62QG IR AIGIYER AIC0YIIRRE AU6S ?
(A) *R9E! (B) gede eal¢  (C) §aed (D) goqa

Which of the following is a dimensional teaching aid ?
(A) BlackBoard (B) DisplayBoard (C) Still Picture (D) Model

27. glrfie SIeae JQIAIAI6R (8108 F67)I8 69Q RUIA QIR ARSI SR @RaI’S ?

(A) QIR adicead (B) AL OIQ & (C) ugead (D) <I8ee 929
By which of the following methods the pupils of primary school mainly gain experience ?

(A) Concrete observation (B) Hearing from others

(C) Imitation (D) Imaginary thinking
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28. 7698 6296 RILY-0RE GER Jde Y@ QU @62 ?

(A) @deqlue d86 (B) weaRIQL QLM SKE

(C) 89 gQ AFe (D) QeI 4

Which of the following is not an element of activity-based learning ?

(A) Meaningful learning (B) Relatively permanent learning
(C) Very active teacher (D) Pleasantlearning

29. 3698 6996 226441A IR MY IR 63FQY Q6% ?
(A) 968 J9@ 9@ AFAEA IRRIR 65416 JIIQP @A
(B) 499 69150 654116Q UI06QR URY6EEI16Q FNIQR K08
(C) 49 QIQULER 69T J6R 6315 654116Q SRR ARG

(D) 6QITN 6416160 FRER QA d&R! QS @3

Which of the following is not a characteristic of multi-grade teaching ?

(A) One teacher teaches simultaneously in more than one class

(B) Theteacher gives task in one class and teaches in the other class

(C) Theteacherteaches in both the classes serially

(D) While teaching in one class maintains discipline in the other class through the monitor
30. 690 PRI PR IR AR Q6L ?

(A) €aglaQinl §8e  (B) €agI@q¢ 588 (C) K918 58 (D) ¢oaQ o2%
Which is not a component of creative thinking ?
(A) Divergent thinking (B) Convergentthinking

(C) Flexible thinking (D) Novel thinking
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M. 1. L. (ODIA)

&6 9ea 2AQ6RE CI0Rd Ggade gq (8° me @ M8 adie) geee aea @2 |

‘TR’ 98 QaUIT A28 B AQR 99° AR g4I JR6R AT ARIQGAR 6QqUET | @Y
Q92038 MRI0IQ P IR JNER JROR FTA @F QIR | AN AR FIFQ AARIQS AVISE
20 QARG B UIERIORIER R1RR QR 2ARE | 6FRETV ARFIAICE 12IQ A SRR FAIR
6IM Q& YR ARG 8 gUIQ Fr6e G0 QYedl !GIZIE | IR AT M 9IEQ NG
F6D4 6R6M - “RITIR 6Q46R YR FIFl QRIRIE, DR B F6H 2R QDD : 6ATGR IV
RI018 AROR ARNE JGRI ¥9° IR 6R60RT AR RIUIR 69 NIV IAIINRR AR
e 2622, 018l Y@ @@ 2U6a goFo | ALNSEQ QAP JIATETL 6R6Q 6ATR 6IFAI
oIt 2069, REIRIR RIG3 | A8 ITAIEA AT F6RE6R 62 JRIAINT FU6R AR
64 AIFINR PRSI AVER ILIB IR, Q19 LFRAVNER LA I219 @R2RE |

31. ‘39 940G ARIQE A6Q99, 0 —
(A) 9@ 6Q4l6Q A16Q FFQ 6QIRTERE
(B) 919191160 S91 SUA6Q 521 FENE]
(C) A9626m dgIRall 4IQIRALAIQ
(D) 4162 SR 924 2QALUR
32. RUIRERE ARTQ F1H6Q ILEFR RIS —
(A) RITIR A9IC FERE 6QUQ
(B) ‘QF162 dRIRNIR @0g’ AT Y8 26ad AR FARIQ
(C) QIUIRER d8l FVAER A6 TICNSR @QURAQ
(D) Q1919 ANRIE 621R2Q
33. QI AFRNR FAUSIER -
(A) QIR RYIS 621QAIAQ
(B) <Rg6r146 ARG 621QANAS

(C) Q92908 AQY 6269

(D) QI9EREe ddear Q89

< »
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34. 3698 694 K2IF 2RRPAY AQAUR JRIF @Qad ?
(A) INER 6Q9E0 TRARRG
(B) deIFIer dRITSA6R 2IENOR K0
(C) dRIg UIRNR FAUAIR
(D) dRgeNd AGIIRAR ARERQ
35. @ 2Q6RRT6R ‘AR’ 408 F6¢)I8 ARIQ 629 26 MALIQ YRR ?
(A) Q904! (B) 2Regg
(C) UINARQI (D) Q2! 2T 29 Q1D
QQ0IG 9Q FYade 94 (a° M Q ¥o) Jeaa 2] @2 :

URRUAIQ QPER A2 UIRUS
AR DG R LI/ 9 |
@ Q219 @ JRQ 6912Q g4
QUM QUTR 2R 67112Q |
REYNIER 6UCRERER TQ QAR
@ ARl 9 9dY-09-92-3IQUR |
Q AN UQEN IQ RO-F6R0R
2QS UL g4 AN AS AR1 |
2R} 9T 6QIQ ANRQNIL
ARl G QUERH-gRY FAURIQ |
LT 2Rl 6969 AR AN
ATRIFYIR 6 RR-AIAUARX |
Q2R 616N R-QIR IR
6RAR RIGQ Y6 YRS QARG |
6049 RRIQ ARY-AR-ZEOR
YR 600N Q-ARIR
6d RIPER URA, URFID RIS
2A1E! AIRIE, 9L ARINDAIER
(64 Q8¢ 2 T IRIR 52ER 1)
QAUFO g 69F AR U6 |
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|DE1 — A|

36. QR NI F67I8 609 IIQ F4IUCE ?

(A) 921Q
(B) a2
(C) gz
(D) g
37. 629 AOA6Q AR URIQ I QBRI 6QIR KIVI6Q FRAAIAE ?
(A) 69696967 6899 DY @ 2R
(B) 60606965 697 Fa7I6R @ 26M
(C) 64160696R 6299 JUYOQ @ 26m
(D) 6960696% A58 AR, 4dYeL 92 GIRl B A @ Zsa
38. Q618 ARIQ 699F ‘QUR-AAARX’ TR F6ATE ?
(A) gu-FaIRI (B) Q0QIF1R
(C) fLaer (D) 2ANRREI
39. 69Q 48% ‘URGARE’ & AN YA FAULIR D ?
(A) <99-2910% (B) 6942191919
(C) <IN-9L AP (D) 223 2V
40. 99 RIQITG 64419960 JVIR FRAUTER IQYIEFER -
(A) 21RO ALIPRTAR €269
(B) 2I919Q 41990 8 Igae 9@ AA96Q 2y QTR ARIE Q6D
(C) 2IRI960 JPY-0R-92-290I0g AR FAQ 6T AIRER
(D) 09981 QINEA AR 9@ JOa ¢al AAIRES
41. FeqIenQ gig gifie 9asa Iayiginles AIgRISI AlIIFER d8I g8 Q062 609 @86 99
Q6% ?

(A) 99, A, NIFRE, IYNUR, FQHIL AGYIT ATER AIRILY F6Q
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(B) <9I 6 64I0I FRIER QI LRGP RIS KRN
(C) 223, QBRNT, 2ad, Il AR RIFRIQ 2RI
(D) uIG, UQUIQ QY@ QQIRR 6AfQIER ARIVGI R

42. 6009 INTVQIRA AR Q6T 96 FAILIR AIRS ?
(A) 6dledyeRIa ARG (B) MI904 BIFQ KR
(C) 2@ Q% 8 AALUQ VORER UYL (D) 9Q 698 QTR AR

43. Q6918 CRIQ 694 ABF PPN AGFIER 3R QI AOR B AL JREI6R AR AYUIQED F2d
QUL ?

(A) gdiQl, @891, Q@ 8 6R%IQI QIVIER ARYE AN KRR
(B) RUAVGQ 6197 21AR G FIFS VORER @A0! 21AR KAQ!
(C) Q104geeq Urde 9EAIQQl FIg AR Jd9Q QA 6Qa @ IR
(D) Q0ordq Ao, 21542 RAIIG AR QEAIAR
44. ‘2’ A9In Y10 2AYER AR A9 | (A0, eI, OR, 69¢)
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ENGLISH

Answer the following questions choosing the correct alternatives given (Q. Nos. 61 to 70) :

61.

62.

63.

64.

65.

66.

The four countries of the world, where ‘English’is a Mother Tongue are :
(A) United Kingdom, United States of America, Australia, Canada
(B) United Kingdom, United States of America, Australia, Japan

(C

(D

) United Kingdom, United States of America, Australia, China

) United Kingdom, United States of America, Australia, Russia

If RMSA (Rashtriya Madhyamik Sikshya Abhiyan) is being organized in the State level by
OMSM (Odisha Madhyamik Sikshya Mission), SSA (Sarba Sikshya Abhiyan) is being

organized in Odisha by :

(A) SCERT (B) DPEP (C) DPC (D) OPEPA
In Odisha English is being taught as language.
(A) st (B) 2nd
(C) 3rd (D) 4th

The right sequence for learning the four Macro Skills is :
(A) Writing, Reading, Listening and Speaking

(B) Reading, Writing, Speaking, Listening

(C) Listening, Speaking, Reading, Writing

(D) Speaking, Listening, Reading, Writing

‘Skimming’ is a subskill of :

(A) Listening (B) Reading

(C) Writing (D) Speaking
Summarising, note making and reporting are associated with skill.
(A) Reading (B) Writing

(C) Listening (D) Speaking

A ra o oa P . —
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67. Holistic Evaluation of learners is done by :
(A) Unitend Evaluation (UE)
(B) Term end Evaluation (TE)
(C

) Continuous and Comprehensive Evaluation (CCE)
(D) Month-end Evaluation (ME)

68. The Right of Children to Free and Compulsory Education was made in the year :
(A) 2007 (B) 2008 (C) 2009 (D) 2010

69. What step does a teacher have to undertake to facilitate reading habit of a learner ?
(A) Reading News Papers (B) Library Reading
(C) Picture and Map Reading (D) Allthe above

70. ‘By Education, | mean an allround drawing out of the best, in the child and the man ‘body’,
‘mind’ and ‘spirit’. This was told by :
(A) M. K. Gandhi (B) Pt. Jawaharlal Nehru
(C) Dr. Sarvapalli Radhakrishnan (D) R.N.Tagore

Read the paragraphs mindfully and answer the following five questions (from 71
to 75) choosing the correct alternatives.

This is a story about the great Moghul Emperor Akbar, who ruled India about 500
years ago. His capital was Agra. Akbar could not read or write, but he was one of the best
and wisest kings that ever ruled India. Although he had no education, he had great respect
for learning. He invited some of the greatest scholars from different parts of the country to
come to his court and help him to rule the country. He chose nine of these wise men to be
his close advisors and to follow their advice in all matters. These nine wise men were
known as ‘Nava Ratna’ or the nine Gems of Akbar's Court.

The most famous of the Nine Gems was Raja Birbal, who was always at the Emperor's
side. Birbal had a great sense of humour and often said things which made Akbar laugh.
Whenever Akbar felt sad, he called Birbal to tell him a joke or a humorous story. Birbal
never failed to make Akbar laugh. But, although his stories were funny, there was great

wisdom in them. Akbar respected him and loved him like a brother.
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71.

12

73.

74.

Fios

[ D=1 — A

The unusual thing about Akbar was :
(A) He was one of the best and wisest kings of India
(B) He had great respect for learning
(C) Hewasilliterate
)

(D) Heloved Indians

Akbar invited his ‘Nine Gems’ from different parts of the country with a view
to:

(A) helping him to rule his Country (B) listening to stories from them
(C) listening to their songs (D) getting himself amused

The ‘Nine Gems’ of Akbar’s court were :
(A) Scholars (B) Singers
(C) Musician (D) Dancers

Birbal had great sense of humour and often said things which made Akbar laugh. The
underlined word in the sentence is a/an

(A) Noun (B) Adijective

(C) Verb (D) Adverb

Birbal for Akbar was as loving and respectable as a

(A) minister (B) courtier (C) storyteller (D) brother

Read the paragraphs mindfully and answer the following questions choosing
correct alternatives.

In football, hockey and other games the length and breadth of the playing area is
fixed, but in cricket the playing area can be of any size. A sixer at Melbourne Cricket Ground
in Australia needs to clear much more ground than it does at Feroz Shah Kotla Ground in
New Delhi. Moreover cricket grounds can have different shapes.

Mumbai, the first Cricket Club of India, was founded by Parsis in 1848. India played
its first test match against England in the year 1932. C. K. Naidu, an outstanding batsman
of his time was the country’s first test captain.

In today’s world, television coverage has made cricket very popular. Children in rural
areas love to watch cricket on television. Within a few years cricket has become the most
popular sport even in small towns and villages in India.
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Cricket has become popular all over the world. But our country has the largest num-
bers of viewers in the world. For cricket, India has the largest market. Therefore, South
Asia has become the centre of cricket playing activities and the Headquarters of ICC
(International Cricket Committee) has shifted from London to Dubai.

76. The country which has the largest number of cricket viewers in the world is
(A) India (B) England (C) Australia (D) West Indies
77. Asixer at Melbourne Cricket Ground in Australia needs to clear much more ground than it
does at Feroz Shah Kotla Ground in New Delhi. This means :
(A) Melbourne Cricket Ground is smaller than Feroz Shah Kotla Ground
(B) Melbourne Cricket Ground is bigger than Feroz Shah Kotla Ground
(C) Melbourne Cricket Ground is as big as Feroz Shah Kotla Ground
(D)

D) Melbourne Cricket Ground is oval

78. C. K. Naidu was a great
(A) allrounder (B) bowler (C) batsman (D) wicket keeper

79. Cricket has been very popular these days because of :
(A) Children’s involvement (B) Television coverage

(C) Windfall money (D) Honour and dignity

80. The Headquarters of ICC wasin
(A) London (B) Dubai (C) Mumbai (D) Melbourne

Answer the following questions choosing the correct alternatives given (Q. No. 81 to 90) :

81. Mohan’s motheris L. P. school teacher.
(A) a (B) an
(C) the (D) None ofthem

82. Dr.Manoj Das is a versatile writer. The underlined Noun phraseisa/an

(A) Object (B) Adjunct (C) Complement (D) Adverb
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Please don't throw a stone the monkey.

(A) to (B) against (C) on (D) at
Sima sang

A) inthe town hall yesterday beautifully

(A)

(B) beautifully yesterday in the town hall
(C) beautifully in the town hall yesterday
(D)

D) vyesterday beautifully in the town hall
My friend Bishnu presented me with a/an camera on my wedding day.
(A) beautiful new American (B) new beautiful American
(C) American new beautiful (D) American beautiful new
Radha was made atthe party.
(A) dance (B) todance (C) dancing (D) danced

The police failed to catch the criminal. Before they arrived at the spot, the criminal

(A) escaped (B) would escape
(C) had escaped (D) was escaping

If Gandhi made a promise he it.

(A) would keep (B) willkeep

(C) kept (D) would have kept

Which of the followings is right ?

(A) How are you mydear! (B) How are you, my dear!
(C) How are youmydear ? (D) How are you, my dear ?

Mrs Mayuri is a grass widow. The underlined idiom means :

(A) Ayoung widow

(B) A widow who has illicit relations with men
(C
(D

) A woman whose husband is temporarily away from her
)

A working old woman
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91. 23567 603 3 6 Q 2IR19 FIeq AAE 9° 5 8 7 @ YIRS IRa AN FRICA dlgiay 660 ?
(A) 2353 (B) 2535 (C) 2553 (D) 2355

What is the difference between the sum of the place values of 3 and 6 and the sum of the
place values of 5 and 7 in 23567 ?

(A) 2353 (B) 2535 (C) 2553 (D) 2355
92. {608 ARIQ 620G YRa 61P9 AWyl 263 ?
(A) 0 B) 1 (C) 2 (D) 3
Which one of the following is the smallest prime number ?
(A) 0 (B) 1 (C) 2 (D) 3
93. A, B,C 6D g6 600 otes 388 gaar A°sHIE ABCD 6267, G9RA¢0e @@ §e frIQ 6946
oR?
(A) A>B>C>D (B) A>C>B>D (C) D>C>B>A (D) D>B>C=>A

If the greatest four digit number using A, B, C and D is ABCD, then which of the following is
true ?

(A) A>B>C>D (B) A>C>B>D (C)D>C>B>A (D) D>B>C=>A

94. Q@G G @. Ql. g 6 ¢l dl. g Q FETFP 630 | 6QAARE F1KIQ 6TlIGT A°FYl 30 6@6m 2ARY
QA°HYIG 6960 ?

(A) 22 (B) 21 (C) 20 (D) 18

The product of the L. C. M and H. C. F of two numbers is 630. If one number is 30 then what
is the other number ?

(A) 22 (B) 21 (C) 20 (D) 18

95. 8¢ ARRATER 696 1L 6QIAR 689 ?

8 2 3.1 58 1
— X —t—X—F———
27 3 4 2 2 2
16 3 8 8 3 1 1.5
S By L = —_ o FLIE Bt
) 81 8 B) 27X9 (€) 4X2 (D) 2 2
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Which is the second step in the following simplification ?

8 2 3 1 5 1
— X —+— X —F— — —
27 3 4 2 2 2
N 16,3 5 8.8 o 3,1 o 1.8
A 5173 B 57%9 © 373 D) 375
96. 25.0203=20+ — — — — + ——— — + —— — _ QIR F64IB AUQ 614 O] ?
s 3 2 o 2 3 2 <
g Ty 5v—=— 5!_! 5;—5
(A) 100 10000 B) 100 1000 © 10 10000 (D) 1000 10000
Which one of the following is correct for25.0203=20+ — — _ _ + ___ _ __ +___ __ _ 7
2 3 2 8 2 5 2 3
5! PN 57 [ e 5!_! 5$—r
(A) 100 10000 B) 100 1000 © 10 10000 D) 1000 10000

97. 2012 adelea 692 6256a i 320 o= 2fl, 2013 Ad2IER LR RY 368 OFI 2RI |
6962 6RP6A RIER AT F9RG 6060 98 AlaR ?

(A) 10 (B) 15 (C) 20 (D) 25

The price of a radio in the year 2012 was Rs. 320. In the year 2013 it became Rs. 368.
What is the percentage of increase in the price of the radio per annum ?

(A) 10 (B) 15 (C) 20 (D) 25

98. ¢QIa Q9 AINRIEHFER 659 621168 FQRIR 8.25 p. M. 6Q QI2IA ReR 63AR6R §89Ia 7.35a. m.
60 IREEM | 6062 YAIT QIGE UIQRIEHEE 68AQQ AR 6]AFER UVIIIP 6960 AT RITRI ?

(A) 10@158G¢ (B) 111588  (C) 11Q30¢Fe (D) 12@ 15 ¢Fe

Subash Babu left Paralakhemundi by train on Thursday at 8.25 p. m. and reached Cuttack
station at 7.35 a. m. on Friday. What time did Subash Babu take to reach Cuttack from

Paralakhemundi ?
(A) 10hr15min  (B) 11 hr15min (C) 11hr30min (D) 12hr15min
99. 4R QIR IR FECAGER URIE F6M 632 6 68GR 6T AZ cm? 626/ VINR 6L 6REE ?

(A) 4cm (B) Acm (C) 2Acm (D) 4Acm
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|SE1T — A

When a wire is bent to form a square its area becomes A% cm?. What is the length of the
wire ?

(A) 4cm (B) Acm (C) 2Acm (D) 4Acm
100. 69115 6R16Q TAYR 6RIEQ UFYER 6216 AQLNE 78° 626@ 6RIETQ AXCNE 6260 ?
(A) 168° (B) 102° (C) 78° (D) 12°

The complementary angle of supplementary angle of an angle is78°. What is the measure
of that angle ?

(A) 168° (B) 102° (C) Z78° (D) §2°
101. 695N @ 62161 QPR RAIY ILIR 68R0IER AIFIF AR ?

(A) TRER AICREER (B) QQ9R FVCRLER

(C) Geea ad agea (D) YR IR 6RIE6R

Where does the orthocentre of an obtuse angled tringle lie ?

(A) Insidethetriangle (B) Outside the triangle

(C) Onthe hypotenuse of the triangle (D) Anangle of the triangle

102. 69115 QR 60115 QLY 6RISIRQ AR B%?é@” N2IQ 2208 QR 6916 QAR AFAIS 3:5
626M, P10 ARDY 2R8Y 6RIEIQ ARSI 6R6Q ?

(A) 100° (B) 80° (C) 120° (D) 60°

The measure of an external angle of a triangle is 80° and the ratio of the two internal opposite
anglesis 3:5. What is the measure of its adjacent internal angle ?

(A) 100° (B) 80° (C) 120° (D) 60°
103. AABC=ADEFY*mMZA=mZD,mZC=mZLE626R AC @I2/d6a" AR ?
(A) (B)
(C) (D) \9Iee RIQ 6T Q6L
ABC=ADEFandmZA=m4ZD,mZC=mZE. is equal to which one of the following ?

(A) (B)
©) (D) None of these
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D= — A
104. 6915N GQl ARELQR 6Q60I5 AR IR 21 ?
(A) O B) 1 (C) 2 (D) 3
How many plane surfaces has a solid cylinder ?
(A) O B) 1 (C) 2 (D) 3

105. 6915\ AAQRR A1F QG B IR AHIRQ 6LITITRR 9LIQ Al A°HYI 6T F6R AT
6R6Q 629 ?

(A) 14 B) 12 (C) 10 (D) 8

What is the value when the number of the sides of a cube is subtracted from the sum of its

vertices and edges.

(A 14 (B) 12 (C) 10 (D) 8
106. 66115 2IAe P9 FETYI UFQ FALIQE, F0I6Q 6RETIE 6218l 226 FAURI ?

(A) 2 B) 4 (C) 6 (D) 8

A diagonal of a rectangle has been drawn. How many angles can we identify ?

(A) 2 (B) 4 (C) 6 (D) 8
107. 36Q GRS 689 A°QIR1 AVAG 96 9O 2°deq a8 FAAG ?

(A) K (B) E (C) H (D) R

Which of the following English alphabets can be divided into two symetrical parts ?

(A) K (B) E (C) H (D) R
108. 6915\ AAFIQ AQR APFQ TR 6717 699 AL e TR AGS ?

(A) 6219 (B) §&9 (C) e (D) daudig

The idea of which object can be given by folding a paper having the shape of a isosceles

triangle ?

(A) Cone (B) Prizm (C) Cylinder (D)  Pyramid
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[DE1 —A|

109. 6415 2RJOT6R AYIL B TR A°El 6960 ?
(A) 89 QU2 ¢ @@ (B) 89 QQI2 9 @@ (C) 89 Qe MG (D) 89 QYR ¥ @g
How many weeks and days are there in a leap year ?
(A) 52 weeks and 1 day (B) 52 weeks and 2 days
(C) 52 weeks and 3 days (D) 52 weeks and 4 days

110. 6915 9@ AQY IRIQ YIAQ 6REL G8 AL AR ?

(A) = (B) (C) 3.1416 O V1o

The circumference of a circle is equal to how many times of its diameter ?

(A) =n (B) B2 (C) 3.1416 D) 1o

111. g giafie dgrieg 98c daI19e dIQ 76919 Q2! AUER FRI 2K ?
(A) SNIFER 99 aee 8 AId
(B) @w9ol 8 6ddY Q¢lg ¥e° QI 00
(C) 69Ie B 69 [
(D) QY QR

Emphasis is given on which of the following for teaching Mathematics to the pre-primary

pupils ?
(A) Drawing and measuring Geometrical figures
(B) Measuring and determining height and length
(C) Addition and Subtraction
(D) Counting numbers
112. 0669660 92 29AE QREAIGQ 624 6QIQIT AR F6RIT 0IQ @a ?

(A) <99, 69l (B) <Iq, QIRI& (C) aigl, o8 (D) @UQ, 0%
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Which pair is different from the other three so far as the position of the object in the envi-

ronment is concerned ?
(A) Big, Small (B) Left, Right (C) Front,Back (D) Up, Down
113. 36¢)I8 Q@0 J9IR URT IR0 698 RIS QM ?

(A) Q6gUd ARIOQ — RO (B) 2EQI? FRAQ — ARIAE

(C) 2eeale ARIAQ — AARJIR (D) 6@a& 962

Which of the following statements about methods of teaching Mathematics is wrong ?

(A) Analysis from unknown — known (B) Inductive specific — general
(C) Deductive theory — solution (D) None of these

114. QUFF6R g8 aa AAAY ATRIIQ FA61, F6FI8 690 IAE MALIQ FRUAIR2N ?
(A) Q6egadl (B) Q6gQ4l
(C) 9Yaee T6qaS B U6Q A°6HI&l (D) Q6L
Which of the following methods is adopted to solve logical problems in Geometry ?
(A) Analysis (B) Synthesis
(C) Firstanalysis and then synthesis (D) Deductive
115. 0dioa Quace 999 9dQq giafie Feaa JIIes JIAss 629 Q0! 214 REIGeel’S ?
(A) Q¢4 9090 8 9&§IR (B) <60 6RO IR
(C) 29Q AR FAER ARIFAE! (D) Ugdiae B YGRQUE

Which skill is not usually achieved by the pupils of primary schools so for as the minimum

level of learning is concerned ?

(A) Identification and counting numbers (B) Use of mathematical symbols

(C) Arrangement in descending order (D) Exercise and formula derivation
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|IDE1 — A
116. 980-32IQI06a FRIANIFER MLYIP AIIGR FIDD SRR ?
(A) QU190¢ @8Rl AIRN (B) dR€910 900! §26 @Al IR
(C) 9f afaId @8Rl aIR (D) 6941 g6a12e (a@1g) iR
Why is placement evaluation of the pupils done in teaching Mathematics ?
(A) For classification of pupils (B) For identification of learning deficiency

(C) For measuring intelligence of the pupils (D) For class promotion

117. 968 81§ €006a ¢ JGIQ € o ERYMI | FIGR I9A 96 A6AlRI @AQl AR 9@ F67I8 621
ARG AL QA6 ?

(A) Ay ALQ URFE FAUNER
(B) QEIGERI I FRURER
(C) QHIQ LML FEINERD

(D) 6QI9RA LRIY ARRER

A pupil wrote 110 being asked to add 1 to 100. To rectify such error committed by the
pupil, which of the following methods should the teacher adopt ?

(A) To aquaint the child with counting of numbers
(B) Togive exercise on counting the numbers
(C) Explainthe place value of the digits

(D) Practising addition

iy . 3 e = gu g 0 -
118. 6415 Qgg AR GRS &R gaaIa faiarl, 1@ eang @6 JBid - 69IR 6AYAI | 12
JR1e1R 699 @VIQ IIRE ?

(A) @gI8°a aa 8 2 0 QIR ERYAIQE
(B) 9qI6°g 6w QUIER 6AHAIQE

(C) Q=R VI FIGER QTR EAYIQE
(D) ¢lIEoR QIAP ACTFTR AR RHYAIQE

2
By dividing an object into three equal parts, two parts were taken. A pupil wrote it as 3

What skill of the pupil does it signify ?

(A) Knows how to write the numerator and denominator correctly
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| b ) =
(B) Knows how to write the fractions in symbolic languages

(C) Knows how to write the symbolic language in mathematical language

(D) Knows how to express the mathematical language in symbolic language
119. 980 JQIQINEQ Jee J8G 69Q |G O] ?

(A) deEcIRA — REFC — JRIAMQR — JeariIae

(B) dRaPLC — JRIAMQR — JREINR — JRaIAR

(C) 9°899c — gRacdIfg| — geaddiae — geaqmyae

(D) g*e6Ioql — gR80s — gearaias — deadslen

Which order is correct in teaching Mathematics by Project Method ?

(A) Planning — ldentification — Execution — Evaluation

(B) Identification — Execution — Planning — Evaluation

(C) Identification — Planning — Execution — Evaluation

(D) Planning — Identification — Evaluation — Execution

- <1 1 1 e 2 ~ ~

120. 968 Jqlel 5 + - = eagal, 121 AR 690 gRIQ @O o188 ?
) QEIE°Q AL 8 2Q AAFER QS FID
) Aeq SIL QG)IE°Q ISR FEAER QG QID

C) . Q. g 5o FRAQ RS QI
)

AN B ANQ FVAER IS RIT

iy 1 1
A pupil wrote > i 3 = 5 which type of error of the pupil does itindicate ?
(A) Noidea about numerator and denominator
(B) No idea about the addition of fractions having same denominator

(C) NoideatofindouttheL.C. M
(D) Noidea about equal numerator and denominator
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[ENVIRONMENTAL STUDIES]

121. QIR Q@ 6RR0I6Q OB 8¢l RITY 621R2IN ?
(A) 29aa (B) QIBAYIQQ KYIAIR
(C) 6qleqmQ (D) g A4
Where the filtration of blood takes place in human kidney ?
(A)  Hilum (B) Bowman’s Capsule
(C) Glomerulus (D) Ureter
122. 6906 6% 6561 Q9 ?
(A) 6aRIgl (B) Q36aQ
(C) 69069Q (D) <@
Which one belongs to another class ?
(A) Pellagra (B) Kwashiorker
(C) Beriberi (D) Scurvy
123. 624 996 g26R 9 AFA6R RAQ 62IR YR 2L §9 ?
(A) UG4S (B) &% 6g6aRQ
(C) 9240 8 a7 (D) 4R 8 L6
In which two planets the sun rises in the West and sets in the East ?
(A) Mercury and Venus (B) Saturn and Uranus
(C) Jupiter and Saturn (D) Venus and Uranus
124. 4@ QYRS 6IIQQ YRV IeR 62QF :
(A) QBAYESR. (B) aaglg (C) ag (D) 2IaQ
The smallest unit of a chemical compound is :

(A) Electron (B) Atom (C) Molecule (D) lon
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E D A B C

—100—80 —60 —40 —20 O 20 40 60 80 100 m

125. 99 990 9@ APY AeadaAg JoIRE, 69926a A 959 0 (99) RUIKNIRR 9e° QIR AL
AIGER 20 FeQ MARUINER 66T 6ANN QUG 2T | 968 NS A QI2IR 692 A26R IR B 6@
JeEem Q° 6Q0IQ 6MAT 622 C26Q SIR D 62 JLEEM | 4T Q4R AT R QAS! IQ°
QEQ YA UUIREC 62 :

(A) 100 6. 6 100 &. (B) 100 &. 8 —100 §.
(C) 160 &. 6 40 &. (D) 160 @. 6 — 40 4.

The diagram above represents a straight road in which point ‘A’is taken as 0 (zero) and
on its both sides marks are made after every 20 m. A person started from ‘A’ and walked
upto B on the road and from there turned back and walked upto ‘D’ on the same road. The
distance covered by the person and his displacement are respectively :

(A) 100 m.and 100 m. (B) 100m.and —100 m.

(C) 160m.and 40 m. (D) 160 m.and —40 m.
126. 6200 @2 64419 ?

(A) 9@ (B) 999 (C) CIega (D) gagq

Which one belongs to another class ?

(A) Kidney (B) Liver (C) Stomach (D) Lungs
127. (a) 9AL1Q QIAAIQI QRAIR AFR 6RI0QT YRR FIRIQE 26E' |

(b) 29 298 QIR FFAVL YHIRIRE 26T |

(€) Q9% 60! gAI T CFC 4R QIQdl 266 |

(A)  (a) O 9" (b) G (c) gw (B) (b) 0Q 9<° (c) 8 (a) @R

(C) (c) 0 1<’ (a) 8 (b) @R (D) (a), (b) B (c) @m

(@) Green house effectis the principal cause of global warming.

(b) Depletion of forests is the principal cause of the acid rain.

() CFCisacause of the green house effect.

- 4 A Id 4 freh P g TP B PSR | Y
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|SET — A|

(A) (a)iscorrectand (b) and (c) are wrong
(B) (b)iscorrectand (c) and (a) are wrong
(C) (c)iscorrectand (a) and (b) are wrong
(D) (a), (b) and (c) are wrong
128. 629 995 @R ? (9694R QR RLE POIRGeR 62AINEa QIR 2U2e @68 1)
(A) IY (W) =Fs (B) @@ (F)=ma?
(C) §8% €& (P.E)=mgh (D) 90% 9& (KE) = smv?
Which formula is wrong ? (The symbols used in each formula carry their usual meanings.)
(A) Work (W)=Fs (B) Force (F)=ma?
(C) Potential Energy (P. E) =mgh (D) Kinetic Energy (KE) = smv?
129. 6000 7 g9l 8 998 @R8N ?
(A) Q1L AR (B) <9Q A1
(C) QWIGQI@Q eI (D) gQUgIR JART

Which one carries different kind of blood ?

(A) Renalartery (B) Hepatic artery
(C) Carotid artery (D) Pulmonary artery

130. 6QIGQ RIORG FARE 69Q6 U F6RIT 0IQ 84 ?
(A) 22l (B) <9I (C) <4z (D) dge=IQ
Considering the causative factor which one is different from the other three ?

(A) Cholera (B) Tuberculosis (C) ChickenPox (D) Tetanus
131. 56918 RIQ 629G RIQ QIR &y QY ?
(A) 69Ql8e dqlg (B) @d Q800! x4

(C) 2ETR RIS (D) <9 Qag
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|SET — A|

Which of the following is the main objective of Science Teaching ?
(A) Cognitive development (B) Psychomotor development

(C) Affective development (D) Allof the above

132. 983-42998 JQIQIe JI8 98560 ARG A0 R ATL A2 A°Ue ARl FAULIR2AN ?
(A) ige Ige (B) @19 I8Ie (C) Q-9 (D) Q6slie

Which subject is associated with science in inter-correlation method of teaching learning

process ?7

(A) Chemistry (B) Life Science (C) Geo-science (D) Geography
133. 63009 ARIe JNIQIPA ATRC! IR J9R 6% 69194 ATER FQQ 699 RGO ?

(A) Q2dIOY 6L (B) <0y 6QIRRI

(C) 499 Qe (D) 6991 GRARIRRI 6AFR!

Which strategy should a teacher emphasize in day to day teaching science effectively ?

(A) Co-curricular planning (B) Lesson planning
(C) Unit planning (D) Classroom management planning

134. 6268 @ @0 IEOYARAE 26E ?
(A) Qe (B) €6@R (C) 9%l (D) <I¢
Which is a printed teaching aid ?
(A) Slide (B) Model (C) Sample (D) Chart
135. “QIg6q 1% QIF UB — QIP 968 JFR QP GAER QT ¢8 f FF AN J6a gIAR
QPR AFER AFUS FRAG IR FLIAER | 12| FVRFR 604 QARG FEIAF ?
(A) adQoiee (B) 6QIQQ (C) Qo (D) doode

“Water vapour is present in the Air” — This was explained by a teacher keeping pieces of
ice in the glass and exhibiting water droplets on the outer surface of it after a while. Which

role of the teacher does it signify ?

(A) Manager (B) Care-taker (C) Facilitator (D) Guide
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D=1 —A|
136. F2IAITQ ANGR 62Q 65410 QAQQ 26E' ?
(A) gee B) Qo (C) ¢om@ (D) ©¢gd
Ocean floor belongs to which category of landforms ?
(A) First (B) Second (C) Third (D) Fourth
137. 6619911 QIg, 6@% QIR 9@ UG 9L ?
(A) QANIR (B) Q191 (C) @99 (D) ede

Which type of wind is monsoon ?

(A) Periodic (B) Local (C) Planetary (D) Accidental
138. 6200 PRAUYA 4@ AR Q6L ?

(A) agrrd (B) Q9L 01Q 9 Q&I

(C) Qidel (D) Qg9 989 9I9Q RSO

Which is not a factor controlling climate ?

(A) Latitude (B) Distance from the sea
(C) Longitude (D) Altitude

139. 964 U 8 FAQ RIIY QANVACR ACRYAQ LYQ TR ACER €A 91 GFF YFIRAER
2SR K06 ?
(A) 2191, QR4 650041, a8gnyl (B) 650Qdl, QIgdl, ALIRA1, Q8eRY|
(C) adgayl, QIPEN,ALINRT, 6T0QE! (D) QIgEN, 680041, A8eMYl, AR

A person travelling on N. H. no. 5 from Balasore to Berhampur will cross the rivers in which
of the following orders ?

(A) Mahanadi, Brahmani, Baitarani, Rushikulya
(B) Baitarani, Brahmani, Mahanadi, Rushikulya
(C) Rushikulya, Mahanadi, Brahmani, Baitarani
(D) Brahmani, Baitarani, Rushikulya, Mahanadi
140. 36719 6296 28 Q10416018 A8Ra 390 26e ?
(A) 9199 QQ PELIQ @ (B) @ﬂ_@ QRQ (19Q 9@

(C) [gQ QaQ A4 9@ (D) @FC IRQ I6I1Q IR
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Which of the following is the extension of the north temperate zone ?

(A) From Tropic of Capricon to antarctic Circle (B) From Equator to Tropic Capricon

(C) From Equator to Tropic of Cancer (D) From Tropic of Cancer to Arctic Circle
141. 621613 9% 660100 ARQ 63T Q6QYY ARIAG CAINFIIE ADICRVEG @6 GRIAI ?

(A) €8 adieaas (B) Q920 9946984

(C) gois adieeas (D) <C6QIY ALICTE

What is it called to visit a geographical location for objective based observation in a planned

way ?
(A) Free observation (B) Controlled observation
(C) Directobservation (D) Indirect observation

-

142, gl2AQ 206 U-209491 9LIae! dIfl SRAT6 690 080 A6Q19a ?
(A) B9 gade (B) @@l gode
(C) 6449192 gada! (D) 699 RN
To teach U-shaped valley at primary level which of the following is the best method ?
(A) Displaying picture (B) Modeldisplay
(C) Class exhibition (D) Field trip
143. Q3214 JANP6Q ‘ARD 6Qd’ RLIQ FALINAN, FIQE F]INES ............
(A) N9 ATA6Q WA 9@ 9l 6RINR FF2ITR ASYIAIER AR AR FAANGES |
(B) 1021d@ €edIgE A2RER F16R QEAIRER |
(C) WGade Qodl 9@ IIgdIeq @R@UIRES |

(D) Q98 QY RAER |
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‘Time line’ is used in History teaching, because pupilscan .
(A) establish relationship between two or more historical events taking place simultaneously
(B) remember historical events easily

(C) express the historical events chronologically
(D) Allofthe above

144, gIefie 2060 R02/4 J9IQIR 763 609 JRGE 2D QUECLIGH 26e' ?
(A) 9LueQRE (B) gede (C) <@ QAR (D) ge8
Which method is most useful for teaching History at primary level ?
(A) Observation (B) Demonstration
(C) Storytelling (D) Project
145. @B0Iq dAINRER 52l 6 NSNS 9g IRl LR, RQd YLIQIel JId Aleaa ------ :
(A) Qs 92 gRUQ SR8 AT
(B) afaQl Ac4Igee 36494 @Al6q AL 621214 |
(C) IR QAR TRREN AN FFEIR QUERY IRRER YRAIFFIR FRAER ARNR 62PN |
(D) QU6 AL QAVRIRQ IRIE AT

Thought provoking questions are aksed while teaching History, because they help the pupils
to:

(A) develop divergent thinking ability
(B) analyse the incidents occured
(C) predict the occurence of the next probable event from its analytical account
(D) develop all of the above abilities

146. QA1 AR IRl &4 ?
(A) 6 AW (B) Qay Q@ (C) Q69Ie ygeg (D) QaCd
Who is the protector of the Indian Constitution ?

(A) Lok Sabha (B) RajyaSabha (C) Supreme Court (D) President

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

IUI—I nl

147. 3546 AIRIEAL QIR Y16 601 4198 AT 1919 Adelea ‘AURS FIAR AIRR'R QT 697 ?

(A) 1649 -6971Q6T1E AR A (B) QGINY, AN
(C) qe-feql LR AR (D) QUIFERS F9Q 2R

Which administrative act passed by the British Parliament became a law of Indian Admin-
istrationin 1919 A.D ?

(A) Montegu-Chemsford Ammendment Act (B) RawlatAct
(C) Marle Minto Ammendment Act (D) Cabinet Mission Rule
148. QIQ@eQ dasl GGl A°gIfl 6R6Q 61! ?
(A) 1757 (B) 1857 (C) 1919 (D) 1942
The first struggle for Indian Independence took place in which of the following years ?
(A) 1757 (B) 1857 (C) 1919 (D) 1942
149. 9°AQ1G AQRIAER A°ALCNER FER LY VIR FLIVIHER RAQ Q2 ?
(A) QAN (B) «uadd
(C) 6RIe AWl (D) 694Q RRARIIQE

To whom do the Members of Parliament owe their accountability for various functions in a
parliamentary form of government ?

(A) Prime Minister (B) President
(C) Lok Sabha (D) People of the Country
150. 69609¢1 A°QUIQ A°CH IR UIQR UGN NS IR U FREAT QUFPED 6T FUARR 2
(A) 40 (B) 42 (C) 70 (D) 76
By which of the following constitutional ammendment act India has been declared ?

(A) 40 (B) 42 (C) 70 (D) 76
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